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28. f{t) =In(sin~1 t%)

20. fix)=cos™!(1/x)

30. f{t) = (cos~1 t)?

31, flu)=csc(2u+1)

clipping taken: 10/21/2022 10:36 AM

\

— .;

oncdem X = e

)

— dan (Hal0e) =10 %

L$‘ML Yan ten an ‘V‘W‘)& e MA&M)

T nglic

J&"/\l/»«m‘h\m ot (\3(”>

S07 Page 1

—’(Ox>



d (0,100 g o (ye) = Jlj (1) =y (42 99)

= d° e (\o,qL ) ad  avwe

Noke Aty on'x ) sidn o ud w this Jedbnk v
wWlahwmas dn iweeine tow, 008 Sin.
TCHA CQ,\,\ \0& CAM‘Q/L(A \-,(\(;( t@uv\l' ¥ ! L | 2
‘Hlﬂ%guw\u £ 'l:aMx)wy, SR, \.e
Y om x ~ ("’Mx) COWX*(W*) LM = é"/‘ XY

W rwrwn \05 Yo ' we oo wat  weoa *\X_

|8
Rule o awg o ()rcw) Sin K= (‘bw} S b X)= (e x)
encepy Qm Ves-1  1%eu Wy’w X, Sha X YN@Qm
inveAde tam , o>, Sin
3.19. 2. 2(3) Yo~ (2(\3 )
Chan ulle - /@(éﬂ é(\f\(33> \
O ulex _f»we:\wm é(%)= Loa' 2 g;(i\: o
Twna Duchisn @)= 244 WMy
"
"(w) = & () W ) - 3
£1)-g Wi Ty
0, 25 Ku} ol 'z
C@am wdl ﬁ(_@ \0(8(2»

T\/\’N/\ ’{/\AMQ'b-M‘. 9(%) ‘(/ ) é(%)* ;,’Q———
Osdon Domclin @)= o' o W) = - =

\ \ \
{(2)v T v Fe—n2 v).f? r T ata A\ —

S07 Page 2



L\\rZ) &

T ik N - Je ot w - cotw=w

( XA\SIW\
&\b%xd&w o vy Ak dw _ d\w

A An T
dw =
— Sy~ \
d d coow - Sin i
:‘/(‘“t ] o(i\é 0t = oﬁ-{’ S"w\\J'— Sind S
\
dwS l YAt \ EEEE N i igASELEE
m::'-/sm |+ ot ™™ \+L00*(ay’cu)1 VY
S
21028 €G- oeg‘(L> -4
X
Cham mllt &(%) s (W)
[ \ 8
T\/V\'V\.U\ {ch’\'iM W ()= ~:—( -} \f\ (x)= - ;L =
HH
uj—h \c«wdlxl\/\ 3('&\- e U g "Wy - w

\

/ \ |
gl(x>’§‘(\n(>2))\n()()= —’—’“ : ;—L N T,

10 Hind é‘m\ (i€ %aﬁ‘u

. . ~\ = = &Pé
Nivahve of e g > RVERES ST\
(
g \ ) -
- R
TAK ~ %n —\\ —as [\-u
ol Al 9
3\\0\\ s : l w
11. Expanding square The sides of a square increase in length a teof2m/s. A(X (t B a (>7— e
a, Atwhat rate is the area of the square changing when the sides are 10 m long? % a‘ ) ) -\: 2 5
b. Atwhat rate is the area of the square changing when the sides are 20 m long?
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13. Expanding iso angle TI legsofa celes right triangle i asein length atarateof 2m/s.
a. Atwhat rate is the area of the triangle changing when the legs are 2 m lon Q(’c\ ‘A(.t\g \E Q(-{:\
b. Atwhat rateisthe of the triangle changing when the hypotel isLmlong? A(t)
c. Atwhat rate is the length of the hyp changing?
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23. Time-lagged flights irliner passes over an airport at noon traveling 500 mi/hr due west, At 1:00 P, M., another airliner pnssps over the same airport at the same elevation traveling
1e north at 550 mi/ hr., Assuming both airliners maintain their (equal) elevations, how fast is the dist anging at 2:30 P.M.7
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35. Growing sandpile Sand falls from an overhead bin and accumulates in a conical pile with a radius that is always three times its height. Suppose the height of the pile increases at a rate
of 2em/s when the pile is 12 cm high. At what rate is the sand leaving the bin at that instant?
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